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Q(P - V
= Q(p-V)-F,  t3-2)3

s - v c
=  S - V C - F , (3 - 3)

AEBIT AQ(P - V)__ =
EBIT QG-V)-F,

AEBlT/EBlT = AQ(P-V)/Q(PmV)-F.
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QV-W  Q
=  Q ( P - V - F ,  AQ

Q(P - V)
= Q(P-‘J-F,

= DOI
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DOL
AEBITKBIT=

AQ/Q
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vi% = EBIT
EBIT - F, (3-4)

AEP%EPS
D F L  =  ____-AEBIT/EBIT

AEBIT/(EBIT-  Ft)=
AEBIT/EBIT

EBlT.___
EBIT  F,
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A 500,000 0 0 500,000 5,000

B 500,000 20 100,000 400,000 4,000

C 500,000 40 200,000 300,000 3,000

10,000 (60,000) 0 (30,000)6 (30,000) (6.00) -6
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30,000 0 0 0 0 0 0
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50,000 60,000 0 30,000 30,000 6.00 6
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80,000 150,000 0 75,000 75,000 15.00 1 5
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Q(P - V)
=  Q ( P - V ) - F

(3-5)s

DCL = 50,000(10-  7)
so,ooo(  10 - 7) - (90,000 + lO,OOO)

150,000=
50,000
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1. nl3%l~l~6~W@JV'jU  (Break - Even Analysis)

2. ni+ixm5?  Leverage

3. uua~muosnl~alsuuor~l~l~~  (Profit - Planning Approach)

4. ~‘%bVJ~&HUti:  (Total Costs)

5. GuMpWlJd  (Fixed Costs)

6. K%lI-b&bbdS  (Variable Costs)

7. nla3anal-Gigrn~~~u~~~~~~~~~~  (Linear Break - Even Analysis)

8. ~~~~~~~~~~~~~~~~~~~~~~~~~~~~  (Nonlinear Break Even Analysis)

9. 57~la’n&Wfl  (Total Revenues)

IO. +l~lXJ%4  (Slope)

11. ~%%%S~~~~~~fl  (Trial and Error)

12. E]~~JlsU@.J”Blgl~  (Break - Even Quantity)

13. ~O@lVlKl~~p;lW  (Break - Even Point base on Sales)

14. $%‘Y$?.&~~~~~~!J@~WI~~~ (Average Variable Cost Per Unit)

15. g%?pbl%%.J  (Marginal Cost : MC)

16. 5lU?lJbfi%J  (Marginal Revenue : MR)

17. nl~^ar~5lrps'g~~~~~~~~~~~~~~  (Cash Break - Even Analysis)

18. ~“~%J~%d?m”iIJ?‘?l!~  (Profit Break - Even Point)

19. Operating Leverage

20. Financial Leverage

21. Total Leverage eS50  Combined Leverage

22. &~MfKd%un15&lrCPa9716  (Fixed Operating Leverage)

23. m’PapWl&l79fll~!.%  (Financial Fixed Costs)

24. Degree of Operating Leverage : DOL

25. Degree of Financial Leverage : DFL

26. Degree of Combined Leverage : DCL

27. ??l~~~V'l~~O~U  (Earnings (Net Income) Per Share : EPS)
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